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2nd Month, 2nd Week, 1st  Day Unit No 2:Food Chain

Q.No.1. Encircle the correct answer from the following choices. ( 6 x 1 = 6)


(i) Animals which eat plants are called: 
(a) Herbivores  (b) Carnivores 
(c) Omnivores  (d) Autotrophs 
(ii) The example of carnivores is: 
(a) Rabbit  (b) Lion  (c) Cow  (d) Deer 

(iii) The animals which eat both plant and animals are called:


(a) Carnivores  (b) Herbivores 
(c) Omnivores  (d) Heterotrophs 
(iv) Which of the following is an example of herbivores?


(a) Crocodile  (b) Shark  (c) Bear  (d) Goat 

(v) The series of eating and being eaten in an ecosusyem is called:


(a) food chain  (b) food web 
(c) producer  (d) decomposer 
(vi) The rat becomes a prey of a/an:  _____________ 
(a) Crow  (b) Owl  (c) Elephant  (d) Shark 

Q.No.2. Write the short answers. (2 x 2 = 4) 
(i) What are Carnivores? 

________________________________________________________________

(ii)How plants make their food? 

________________________________________________________________
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